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Find the following,

In a class, there are 42 boys and 22 girls. What is the ratio of the number of
girls to the number of boys?

Vipul walks 8 km in an hour while Anurag walks 6 km in an hour. What is the ratio
of the distance covered by Anurag to the distance covered by Vipul?

In a school, there were 75 holidays in one year. What is the ratio of the number
of days in one year to the number of holidays?

Cost of a notebook is 50 rupees and cost of a pencil is 5 rupees. Find the ratio of
the cost of a notebook to the cost of a pencil.

Length of a room is 35 m and its breadth is 25 m. Find the ratio of breadth of
the room to the length of the room.

Find the ratio of number of pencils to the number of notebooks in your bag.

Length and breadth of a rectangular field are 55 m and 25 m respectively. Find
the ratio of the perimeter of rectangular field to the breadth of the rectangular
field.

Give three equivalent ratios of 4 : 3.

Fill in the missing numbers :
2 4 8
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